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JAVA gES 4 AFE

f 2D ava 29 s$C .(IOS.()}
1 package par; 3 }
: : g . ublic static String getWinner(int player, int computer) {
JAVA i import Jovo.utfl.kandon, - P G Gilartl ua St Selonss "BOUs
4 import java.util.Scanner; ~ olse 8F (
> 35 (player == 1 88 computer == 3) “
& public class Rep { (player == 2 88 computer == 1) ||
’ : 7 (player == 3 && computer == 2)
g public static void main(String[] args)){ . ) return "$21°;
o) = te MHA IS FA 3 Scanner sc = new Scanner(System.in); . alse rutmens “W0.%;
2D—|I-E[[H Il-Hl-E I-lm I=IOH]:I %EET 10 Random rand = new Random(); e }
11 String[] rps = {"7t§", “ww"™, "¥"); 41
= = O|H|O o] 12 42 } s
= HHE?_J_I_ D'—I-EO-IE jl_-r“:”--rlE }”D 13 System.out.printin("----- Y e "); <LETITINSIEU> RUP JaVd APPIILEUUN] L ITFTUYISITN FIRSTIIESVETUKR- 18U,
14 System.out.println("0. 2=, 1. 714, 2. w9, 3. ¥"); Rp———— 7t9HIYE ~--=--
15
16 while (true) { =g 1. 2 2. B}QI 3. [~
17 System.out.print ("% > *); e . =) ) |’${ b} )
-a int player = sc.nextInt(); ?Ja %
:9 if (player == @) break; %‘%E{ > > o
21 else if (player < @ || player > 3) continue;
= O A S
22 T T
23 int computer = rand.nextInt(3) + 1; o -
*24 System.out.printin("&HE >> " + rps[computer]); :,-e-,‘ > 3
26 System.out.printin(getiWinner(player, computer)); :::TrE{ >> |'${
. ’ ey .
2= >> 0
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WIE

~jupyter Untitled muse @ Logou .
| Python 3 © ———— m_ S — m
AAL0IE LI =00 Lo BHRD 712 JE00EEEUGE -

= - MRt AR RAN N TR v Y e

Vi 1sert C4 Komal Nidnets Hep

n[16]: from selenium [aport webdriver

d= Soll 2= HIOIH XISz 19! SRR TR szmozamueo Ml ag ™ L

driver.get('httos vy . naver .coa/')

"1 . ' 1 SR LR

driver find_elesent by spath( ' //«[8id="account™]/a").click() Weorw R =

dr lver . execute_scriot (“document . getElesent sByName( “ 14 ) (0] .value='junjg! ") - — L e e | % e
tine.sleep(l) ,
driver.execute_script(“document . getElesent sByNase( “pe’ ) (0] .value~"HIEHIR ' ") e e - ) = — u
tine.sleepl(!) 1 o 7

driver. find_eleaent by spath( ' //«[Bid="1og. login®] ") .click()




htmidt cssZ 01t i

f§ Tomcat v8.0 Server at localhost

1 <!DOCTYPE html>
= <html lang="en"
3= <head>
4 <meta charset="UTF-8">
) title>Document</title

|£] *a.ntmi 32 (@ Document

9 head
11 <body>
12 <div class="wrapper">
13® <header>
14
15 <hD>3 g 2 FH/hD>
16 <nav class="gnb">
18= <ul class="gnblList">
196 <li class="gnblist-item"><a href="2">FH274</a>
20 <ul class="innerlist dp-none™>
<li class="innerList-item”><a href="g">=xCi0 F</a></1i>
<1li class="innerlList-item"><a href="#">8%2</a><
2 <1i class="innerList-item™><a href="#">SH VU< /a></11i>
2 <li class="innerlist-item"><a href="#">2A|s B</a></1i>

Y U1 B U
/
¢
\

i class="innerList-item"™><

2

26 </11>

27

28= <1i class="gnblList-item"><a href="2">@A0l</a>

29 <ul class="innerlList dp-none™>

30 <li class="innerlList-item™><a href="#">MEH20%</a></
31 <li class="innerlist-item™><a href="#">YALtLi</a></1i>

class="innerList-item™><a href="#">YAMLY</ar</1i>

a href="#">288% <

i>

AL
=] O

P L

-9

Lo U s

<1i class="gnblist-item"><a href="#">§L201g</a>
<ul class="innerlist dp-none™>

¢<1li class="innerList-item"><a href="#">BH 24/ /as<¢/1
<1i class="innerList-item"><a href="#":>BER=</a>< /11>
<li class="innerLlist-item”><a href="#">§48Aldl</a></11i>

</ _J:_}
€f1i>

¢1i class="gnblist-item"><a href="#">EE0IE</a>
<ul class="innerlist dp-none”>

¢1i class="innerlist-item"><a href="#">2%7|</a></11>
<li class="innerList-item"><a href="#">@md2el</a></1i>
<li class="innerList-item"><a href="2">BEY2|</a></1i>

£fuls
<f1i>
<ful>
<fnavy

</header>s

</div>
<script src="script/jquery.js"»</script>
<script sre="script/common.js"»</script>
</body?

</html>
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ficharset "UTF-8";

2= { & O file;///C:/Users/junjg/Desktop/0506 (cse

- margin: @;
. §in; 0; =11 O H| =
5 padding: @ H_l_ I-I 'l
hhnl,& 6 5c>:—:i:ing,: border-box; 0 — E -*. :I
A/
yiat S0 EX(
ol { -+
list-style: none;
11}
2=a { AALRHY
13 text-decoration: none;
color: M black;

1l

EE0T

htmlZt cssE 0= oM Of

ayy e 19} A £ &
I].ll'IITI'IHlOlIl gg QI-E o T ;r, EOOG_D/.; = l1

display: flex; :
2 .dp-none {
. display: none; O N Oa filey/ T Usersjun)g/Desktop/0506 (css& i i 0 e/ fC:/Users/junjg/Desktop/0506 (=S BESH
& J
278 .active { =1 O e - ==
background-color: [J#f1f1f1 !important; ﬂH_I'__EH Hxll =q1‘" QH—EFEI'I I::I"!‘ qI‘l
25 color: M #616161 !important;
=SS
32 /* header start
ELHo] =
4= header { _._I:H_l = HJ‘I'?_ILH
35 width: 25%;
: height: 656px; <l
display: flex; SHHE
38 flex-direction: column;
align-items: center; —— d
Hpis -
mj } = ﬂ = ;%kﬂjlkl
42= . Logo { A=
13 width: 100%; e HEETE
height: 106px;
45 display: flex;
3 H =W A2
justify-content: center; E |-'— H =R
g =4 2| A
align-items: center;
3
} gworg
quu|cl|
Hojopet
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=] LoginCheck jsp [= 1jsp =] 2 jsp

Fa) (IS0

index HIO| X|

[] footerjsp ] C55.055

|2] contact_pos._.
page language="jova" contentType="text htol; charset=UTF-8"
pageEncoding="UTF-8"%

request.setCharacterEncoding(“"UTF-8");
response. setContentType("text/html; charset=UTF-87);

|DOCTYPE himl
<html>
18 chead>
1 <link rel="stylesheet”™ type="text/css" href="css5.c55">
<meta charset="UTF-87»
ctitler=8@7c/titles
</head:
-||.|_'.-
¢l-- include EATHE HEF header, footer ZE --
i include file="header.jsp”
ection
h2>BETUC. </hlx
¢img src="htitps:/Simage. chosun. com/sitedota/imoge/202009,/01 /2020000103252 0.png”>
L SECTLon?
¢l--  include X[L%E E2F header, footer ZE --
%3 include file="footer.jsp™ %
/bo

JSP & =_191

index M|0|X| &8 5}

5| indexjsp 23 [2] loginjsp

ool | 239 | HAIR | A0

gL

U
HlolZ== HIO|X|= forward o &

1jsp

<Hi page language="jouva” contentType="text/html; charset=UTF-8&"

| contact |

|2S MEIGHH HIOIH HIZ= OIS0t
AXIE

MEHGHH 29| ARIE LI

Bl 2.kp [2] footer jsp 2] cs5.c88 [2] contact_pos.. =] Indens jsp = loginjsp B
pageEncoding="UTF-87%

request.setCharacterEncoding("UTF-87);
response. setContentType("text/html; charset=UTF-8");

IDOCTYPE html>

<html>

¢jsp:include page="header.jsp”></jsp:includes
string send=request.getParameter("send”);

if(send.equals("ma"}) {
response.sendRedirect{“http://mail.naver.com/"};

h
else if{send.equals("mg")){

pagrfnn?rrf.fnrhﬂrd('rnnfﬂrf_nnﬂr_nrxf.jﬂn"j;

ide page="footer. jsp r4/Jsprincludes
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JAVA LIS A

v &35 DynamicBeat ‘

= J i pachage dynamicbestd; .
W Src «  Ivimport Jave.swt . Coler;

J V ~ _.IB d)mmicbutz : 10 peblic class OynanlcBest extends 37 rame(
A A v (1] Beatjava 3 peivete Sesies Sersentesnic
» O Bent 23

e it

4 private Inege Dachgrounds new Isagelcon(Main closs . getiasourcel™. . /inages/ intro_bachground jog”) ) . getinegel ),
T . Ivate J0abel senulBar = sew Jiebelinew © Teon(Main. cians Resourcal ™./ images/ manuler oo 1)),
v .J) DynamicBeat java M = . v . il - .
N private Inagelcon saithattonBasicinage » sew Inagelcon(Main. class . gotlosource(™. . /images/enithuttonlasic. Jon") ),
> 9 DyMiCB@J! i private Imagelcon sxithuttoninteredinage » new Inagelcon(Main.class. getfesource( ™. . /ioages/snithuttonintered. 1087 ));
5 ’\, Gam}ava » privete Isagelicon stertiuttonBasicinege = now Smageicon(Mals. class. gethasourcel . . /inages/ starthvttontasic . prg”) ),
. e | A — =3 A = 0 —— private In0gelcon STArTRTOMATeredinage = fow Toagelcon(Malin class gotiesourcal ™.  /Inapes/ sTartduttontntered, prg” )
— — — 1 :
Dynal I "CBeat E EH_ E| E EH_ E_j ’ -,-J ",mwm‘ ) private Imagelcon guithattonlasicinage » saw Isagelcon(Main.class. getfosource(™. . /inages/quithuttonbasic.prg”) ),
) M M g 4 privete Inmsgelcon guitButtoninteredinage = new Imsgelcon(Mein.class. getfescurce(”. . /isages/guithuttonintered. pog™) ),
> 4] Main java :
P ) private Isegelcon leftBttontesicinage » sow InagelconiMain. closs . gothasourcel( ™.  /inages/ leftbuttontes lcInnge p7g" )
H:” [” O:' Ef:l E I_E I ) .!J MUS’C}J\'J ’ Private Inegelcen JeftRteninteredioage » Aew IRagelcon(Maln. CLass. BetResourcel ™, ./ Loages/ leftauttoslntered inage oo
— ’
| E E L] . "\ W'J‘V‘ ’ private Insgelcon rightiuttonBasicinege » new Imagelcon(Main.class. getResource(”™ .. /imsges/rightovttonBesicinage prg”
!;J ‘2 private Issgelcon rightiuttoninteredinage » now Isagelcon(Main. clms . getiescurce(”. . /imager/rightbuttoninteredinags.
’ !J T'xk}’va - PrAvate I10gelcon 05 )R tenlasicinage = sow Toagelcon(Maln choss . gothasourcal ™. . /images /ooty iuttonbasic oog" ) ),
. ‘) private Inagelcon ssnybattoninteredinage « new Inagelcon(Main. class. getRasowrce(™, . /inages/sasyiuttonintered prg™) ),
¥ E lm‘g“ “ private Insgelcon hardbottonBesicinage » sew Isagelcon(Main. class. getiosource(™. . /inages/ harabuttonBesic.prg”) ).

private Imsgelcon hardluttoninteredinage » new Inmsgelcon(Main.class.getfosource(”. . /inages/ hardiuttonintersd. prg™) ),

v {55 music -

e

buﬁOﬂEﬂtﬂOdMuSlCMp3 4 private Isegelcon bechbButtonBasicinege = new Imsgelcon(Main.class . getioscurcel™. . /images bachkBattonBasic.pog™) ).

. C M93 & privete Issgelcon bachbuttortsteradinege = new Inageicon(Maln. closs . getfetource( ™. . /images/BeciBttontntered prg™));
- ’ private JBUTTON axithutton » sew JBVTtoa{esitiuttontesicinage);

s drumSmat ! mp3 3 Private JBUTTon startButton = new JButtan(startiuttorBesicinage);
— L 5 private Jutton guithutton » sew Jutton{quitihuttondssicinage);

. i 3 privete J0utton leftiutton » sew JButtonlefthuttonfenicinage ),
mtrwu"c mpa ca private JButton righthutton = new JButten(rightiuvtionBesicinage ),

» Privete JBTTOA o yButTen & sew DTN eas Bt Tordlasicinmage) .
Lm'poem MDS ¢ PRIVt JHUTTOA Rardiutton & sew JIVTTOA(RardltTanlasicinage)

private JUTton BachBUtToNn & aew JButton(BachButtandasicinage ),

Payphone mp3 -

) private 1at souselk, mousaeY,;

TO My Yoummps ” private booless LaMaintcrean = false,
) ‘ JRE Syﬂem ww JavaSE-13 o private boolean Lulameicresn » false,

o4 ArraplistcTrach> trackiist » sew ArraplistcTrackr();

> M Referenced Libraries ¢

6 privete Inege selectadinege,

. Private Isage titielsage,
L Privete Muslc selecteamusia,
’ private It nowdelectetwd;

3 public static Gane gooe;
') Music Lotreiualic = mow Maalc] “intromuslic . mpld®, tree);

pblic Oymamictent() {
' trackiist . sddinew Track(“payphone Title lmage.png™,"peyshone Stert _lsage. 108", "peyphone_gene_lsage. 3og" ., "Paypher



JAVA LIS A

Vo o0 va e - -~ P D e e ——_— - - il e e

pachage dynasicheat,
“Amport Jave . lo . Mfferedinputitrean,;
) public class Music extends Thread {
JAVA O —
33 private boolean isloop;
private File file;

private FilelrgutStrean i,

private Bufferedinputsitresn bis,

PEEY " B "TW W W W IWWewr Yy - v

public Music(String name, Boolean islocp) { S et s I, Vae waa 1N e 1 Oyrarmicbest o ) Game e A Ceyntecwr 1 Nete e I Tk
_ o I D OI- ! try iu"“;wc — - package dynamicbeat2;
. ] EH EJ — | [ a1 — [ I- i file » new File(Main.class.get®escurcel”. . /music/“enane). tolRI()); . & -
M — A= — | — — ; fis » new FilelnputStresn{file); 3 public class Main {
US C — —_—l | — - 1= 3 i bis « mew Bufferedinputitresn(fis); a
player = new Pllyer(is); 5 public static final int SCREEN_WIDTH = 1280;
o . A o > cateh(Excoption «) ( 6 public static final int SCREEN_HEGIHT = 720;
OI-J_ Maln = E,H — xl-‘: 0'|—|—_I_ System.cut.printin(e.getMessage()); 7 public static final int NOTE_SPEED = 7,
o E = —_—— o= = — , ) 8 public static final int SLEEP_TIME = 18;
g Q .
~ public int getTime() . public static final int REACH_TIME = 1,
m_._ P al- Afiplayer »» nll) ‘(
E,I'— : return @, il
s T— — B El-. return player.getPosition(); 12 public static void main(String[] args) {
) 13 new DynamicBeat();
public void close() { f; H }

istoop = false;
player.close();
this.interrupt();

4 )
-33 public void run() {
44 try {
&% do (
a4 player.play();
47 fis = new FileInputStream(file);
48 bis = new BufferedInputStream(fis);
29 player = new Player(bis);
5Q Jwhile(isloop);
51 Jeatch(Exception )
{

53 System.out.printin(e.getMessage());
. i )

)
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11 beckage @ymanichent?;
“Anpert Jove. ot Coler,

10

I public class Gane sxtends Thress|

14 privete Image gasainfolmage = new Isagelcon(Main. class. getfascurce(™. ./ Loages / pesalnfo prg™)) . getinagel ),

] privete Isege Seigemartiineinage = sow Inagelicon|Mals closs gotfesourcel "  Jimaged Judgenantiine ong” ) ) . petinegel ),
private Isage noteloutelnage » Aew Inagelcon(Main closs . getResowrcel ™ .  Jimagen/ neteloute. s ) ) gt inagel ),
privete Image notelioutelinelnage » sew Inegelcon|mais class. getissource( ™. . /isages/notelouteline . prg™ ) ) . petinage! ),

) Private Inage nateloutetlinage » Aew Inagelconmaln clans gotRasaur el " S Ineges Aot aloute . pog” ) ) cgetinagel )

i private Isege noteloutellnage » sew Isagelcon|Mals class. getiescurce(” .. /isages/notelowte prg™) ) .getinage( ),
privete Isege moteloutierinage » sow Inagelcon|mals closs getlasourcel ™  J1mages  A0teloute g™ ) ) .gniinagel ),
private Isage noteloutelpaceiinage » new Imagelcon(Main. clons gothasourcel ™.  Jimages/ nateloute prg” ) ) et inagel ),
privete Isege notelouteipecellinage » new Imagelcon(Main. class. getfssowrce!” imagen/moteloute prg™ ) ) .getinage! ),
privete Isege meteloutelinegs = sew Isageicon|mals closs geifastvrtel " . Jineges soteloutie pog” ) ) . getimage( ),

Privete Isage nateloutetinags * sew Inagelconimala clans gothasowrcel . Jinages A0teloute pog” ) ) cgetinagel ),
private Isage motefoutellimage » nsew Isagelcon|®als class, getiissource( ™. . /ineges/ notelowte.pog™) ) .getinage! );

n private Inage drawiinelisage,
privetes Isage Judgelimage,
private String titienese,
privete Strisg #ifficelity;
privete Strisg suslcTinle;
14 privete Muslc gasemusic,
Arraplistanoter motelint » new Arraplistcdeter( ),

public Ceme{String titisNene, String difficuity, String municTitle) (

46 public void screenDraw(Graphics2D g) {

a8 g.dravinage(noteRouteSIimage, 228,30, mull);

av g.-dravissge(noteRoutedInage, 352,50, null);

S@ g.-dravlisage(noteRouteFInage 436,30, mull);

51 g.dravinsge(rnoteRouteSpacelinage, 549,30, null);
52 §-dravlsage(noteRouteSpacelinage, 640,30 null);
53 g.dravisege(noteRoutelInage, 744, 30, mull);

53 g-draulsage(noteRoutexinage 848, 30 ,mull);

5S g.dravinmage(noteRoutelInage, 952,30, mull);

¢ g.-draulssge(noteloutelinelnage 224,30, mull);
57 g.dravisage(noteRoutelinelnage, 328,30, mll);
8 g.drovinsge(noteRoutelirelnage, 452,30, mall);
59 g.-dravlsage(noteRoutelinelnage 536,30, null);
() g.dravimege(noteRoutelineinage, 740,39, mll);
€1 g-draulsage(noteRoutelinelnage 844 30 ,null);
62 g.drauisage(noteRoutelinelnage 548,30, il );
63 g -dravissge(noteloutelinelnage 2052, 30, null);
w4 g.dravinage(ganeinfolnage, 0,660, null);

&5 g.dravlsage(judgelnage, 540,420 mll);

67 g.drovinsge(cravlinelinage, 549,509, il );

g.-draulsage(judgemsentLinelsage 8,620, null);

O

YRR RE I IETYTTY
T T T E T Ty
‘ ‘ I Ve

public void jodgetvent(string Judge) (
A {1 judpe.equala(“None™)) {

}
1€(Sudge.oquals(“Miss™)) {
Jutgelnage = new Imagelcon(Main.class. getResource(”

Sraviinelnage » new Isagelcon(Main.class. getResource(”

else Af(Juage.equals{™Great™)) {
Judgeinage » new Imagelcon(Main. class, getResource(”

else if(jodge.oquals{”Late")) {
judgeinage = new Imagelcon(Main.class.getResource(”..

else 4f(judge.equals{“0o0d™)) (
Judgelinage = new Isagelcon(Main.class. getResource(”.

else 1f(Juage.equals(“Perfect™)) {
Judgelnage = new Imagelcon(Main.class. getResource(”

else Af(juage.equals(“Eariy”)) {
judgeinage = new Imagelcon(Main. class,getResource(”

/images/Miss . png™) ) .getinage();

fimages/Grest . png”)) . .getinage();

/images/Late.png”) ) .getinage();

/images /Good. png”)) .getinage();

/images/Pearfect. png™) ) .getinage();

fimages/Rarly .png”) ) .petinage();

Simages/drawiine . pogt) ) .getinage( ),
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't Dgionw
M )
8LTTON
Chat Chere
-

P
pochage spnllontion - & o1z -
® Lagert Jowe. Lo, J08sception; B 011)
& wamen
pehlic clans Maln svtonds Agplicetion | o Chat Chant
- sahet > Chat Server
Tentdrns Tantives -~ '. e
pohlic wold snarolilenu(saring ¥, Im 01 v § xobcinon
Theaad hoand = s Theani() | v ) Clentjova
-4 r-‘l‘l:'-fzo e O Cleet
Mrtemew SaCher(lIr, 3T I Mo v
. oal s ¢ wphcaton o
coteh{ Eaception #) {
T I sechen. Seliesedi)) { B RE System Lbvary
Vol llent () B ety
'.:nn swt . primtis{ [ "= 3% 421" ); A Dulld fxboild
Plotforw aninl )y 24 coMee
) - T e
& dec 22
. .

tecead gtere

pALEe wold gl )
ey |

5

.o it e Tracel );

poblle vold recelw {

« sull S8 Tanchet daCiesed())

pachage spplication;
* inport Jove. bo.10Exception;

poblic clans Cliemt {
Socket sochnt;

pblic Cllent(Socket socher) {
tAls . et » sachet;
recelive();

peblic vold recelve() (
Rermabile thread = sew Rnnable

public vold run() {
try |
while(true) (
IngutStreas |»
bytel] buffe
ot length « In
while(lengthe
Systes. owt. pri
L
) oS
String seisage

for{Client ¢l

Jeateh Exception o) {

try (

O

wsacket. . getingutStrean|);

. mew bytelsi2);
resd(bufier);

) throw new I0Csception();

.
[ 34

ating .
et . getRenoteSocketAddress()

" o Thread . .current Thread( ) .gethane( ) );

#fer,0, longth, “UTr-8");

* new Strisg(s
et Maln.cldents) ( ® . ¥R

Lent. send{wessage);

wALLe(trew)
vy {
Inputitrome

£ e sochet, gt lnpwtStrees ).

‘o s @

Systes. out . printin("[Nar =, an)”
¢ socket, petResoteSocketiddress|)
%1 T ¢ Twesd . currentThread( ) .getiiane() );
rain. clients. resove(Cliont. this);
sochet. close();
Jeateh(Exception ¢2) §
cl.printStackTrace();

rw, el atery |

1

coteh Laception «)
magliient| )}
(SR

byte tHer = sow Bytel8a2);
e Lengs - rond| e
L0t sn o1 ) e s D00 et bond )2
. . .
Vrhng srriage = sew Mirdng (b fer 0, Jangin, ¥

testiven sppendtontimnionge ),

try {
Outpuatitreas cut » socket, getOutputs o= );
byte[] buffer = sessage. getBytes( UtF.2%);
vt write(buffer);
vt . flesh();
Jeatch(Excoption o) {
try
Systes . out pristin{"[R4T oL 20"
¢ socket, getRescteSocketaddress()
o ¢ Thread. correntThread( ) .gethane());
Mein.clients. remove(Client. this);
socket . close();
Jeatch{txcaption «2) {
el.printiteckTrace();

)

&_

Main, threadPood . sutmit(thread)

public vold send(String seisage) {
Rusnable theead = new Rusmable() (

P peblic void run() (
trew
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stackl - H{EHQHE2 22 M3 Z2to 2 HAS}Y

+ 28 Gl BUVC stack2 - Q”ﬁ#‘g HIHHZTEL TEA7|7]

$ python /stackl.py
'_.‘Ag(’«‘:,]r} not find executable 'stack®' in SPATH, using stack®' ins StaCk3 _ %xé' _§i§ ﬂs §‘E‘ ﬁ7|7|

] Starting local process './stacke pid 5450

[*] Process /stackf' stopped with exit code 41 (pid 5450)
ve changed the 'modified' variable

: $ python -C "print "A'*68" | ./stack3
calling function pointer, jumping to Ox41414141

Segmentation fault




page language=“jova”™ contentType=“text/htel; chorsetsUTF-8° Class.forName("com.mysql.jdbc.Driver”);
p."snwd"”" ot String url = “jdbc:mysql://localhost:3306/test?serverTimezone=UTC";

-;..-, TYPE heml 2 K WS DTD HMTML 4.901 Transitional N (337" www w3 . org TR/Atmla/lo0se . S8 stl‘in‘ user = ..rootu;
and String pass = "1234%;
(meta Mtp-equiva™Content-Type™ contents“text/htal,; chorsetaUrF-8"
rels"stylesheet™ hrefa"Attps://moxcdn, bootstropedn. . com/bootstrep/3. 4, 1/¢css/bootstrap, . min, cos” try {
Ctitler20208 LRBc/title String sql = "SELECTY id,password,email,name,bir FROM tb_userl”;
</ head> 3 3 ; .
G-" ¢_l_ L =64 S Connection conn = DriverManager.getConnection(url,user,pass);
T= L E I: E AE O y T efora actione"join ok, Jsp™ methode"post™> PreparedStatement pstat = conn.prepareStatement(sql);
2 pstet. executeQuery();
14 ctdr>20:</td> ResultSet rs = pstmt.executeQuery();
35 CTE>Cingut types“text™ names"1g" Tt
q I : e while(rs.next()){
— e T String id = rs.getString(1);
- »<input t,‘Dc;';passuora‘ names "passord ></td> String password = rs.‘otString(Z);l
c/ees String email = rs.getString(3);
ot String name = rs.getString(4);
T EMATIL : ¢ String bir = rs.getString(s);
2 tdrcinput types“email™ names“emoil">¢/td> %
' <t
'_-v‘ tr CLEINAME: </t d> I td %=id¥%>¢</td
_ Ctd><ingut types“text”™ names"name”)></td> s '.-pufzord‘. e
/e Ctdr<N=email¥o<¢/td>
Ctd><N=nameN></td
Ctd>DATE: ¢ /td> td>R=birf>¢/td>
Ctd><input types"date” names"dote™><¢/td> </erd
CTAXCinput types“submit”™ classes“Dtn Dtn-prisory DEn-Lg PEN-DLOCR™ values " HENI">(/tad>
Ctd><a hrefa™list . Jep™Assc/are /e }
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(0 localhost
- C () localhost < C
. ABCC ABCD
PASSWORD: | escssees
null
- 1;\' ﬁﬁ:l N1 ‘;\l L1 ' 1
» e ABC@EMAIL.COM

NAME KIM JONG HUN
UAILT Al Y. U3 D KIM JONE‘ "'LN

< C @ localhost

ofoic| | BAfE | o2 |  0o|F Mwa%
[ABCD [ABCD1234/ABC@EMAIL.COM KIM JONG HUN|[2021-03- 03}
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thily java Wity Jad

package com.sac.firstapp;

public class HainActivity extends AppCompatActivity 4

protected vold onCreate(Bundle savedInstancesitate) 1
super, onCreate [savedInstancestata)
setContent¥iew(R. layout, octivity_sadm);

Button BEAList = findviewBylall. id.&talist);
Button braMy = finaviewByIa(R. 10, pTety)

BtnList.setOnClicklistensr(rea | {

public void onllick(view v)
startActivity{nes Intent(

+
b
Etaty , setonlLickListener | i
public wold onClick{Visw v] {
startactavityinem Imbent| t Haamkctivity this, Mydctivity class));
}
k1;

+ Hadmkctivity.this, ListActivity.class));

IL]
4L O

=2l A 0] (Android Studio)

e AndroidManifest xml
package com.smc.firstapp;

& ListActivity java & MainActivity Java

import
& bublic class ListActivity extends AppCompatActivity {

Context context = this;
ArraylList<ListIten> data = new ArraylListe<>();
RecyclerView rv;

. protected void onCreate(Bundle savedInstanceState) {
super.onCreate(savedInstanceState);
setContentView(R.layout.activity_list)

rv = findViewById(R.1d.rv);
Button btnSearch = findVieaById(R.1d.btnSearch);
EditText etKeyword = findViewById(R.1d.etKeyword);

rv.setAdapter(new MyAdapter());|
btnSearch.setOnClickListener(new

. public void onClick(View v) {
String 1nput = etKeyword.getText().toString();
callApi(input);

19K

velig

callapi(String heyword) {
Thread) run()

syper, ren{);

Al createl) searchikeynor

engueve(new CallbackeSearchies»() {

public void onfesponse(Call<Searchfes> call, Resgonse<Searchies>

» response . Sody();

Search

data LA RRAL L H
rv.QetAgapter().notifyQatasetthanged();

public vol@ onfFallere(CalleSosrcrins> call, Throsable ) (

}

F.staert();

class MyAdepter extends RecyclerView Asaptec<MyAdspter, ViesMolder> {

peblic VieaMolder onCreateViemMolder{VieaGroup viesGroup, int 1) |

Log.a( “»ang”, “ontresteViewHolder™);

Viem view =

return new Vieasoloer(vien);

peblic vold SnBInaViennsloer (LISTACTAVITY. . ByASApter Vieamd 100 vieanslder, int gosit

Ktal.froeHtel(iten.title));
setText(iten.sallNome);

wPrice, setText(String. format("y. 05", 1ten.lprice));
1o 1ten. inage
inte(vientiolder. 1vThuad)

respomse) |

peutintiater. fros(context) Inflate(R, Lavout, 18ee_recyclier, viesGroup, fals

o) {

viewMolder. iteaVien. setOnCLickiistener(ne t {
pudlic void onClick(View v) {
stactActivity(nes Intent(Intent ACTION VIEW, Urli.porse(ites. \ink)));
H:

vieaMoloer. checkBox ., setOnCheckedChangelistener(

pudlLic voldd onCheckeothanged(ConpoundBution SuttonVien, boolean 1s{hecked)

1f (asChecked) {

(Thread) ronl)

MyQatabase. . class,
"Listitend8.db"

).builal);

Listitenloo dac = db,gethao();
080, InsertAlL(1ten);
b.start();

b oelse (
(Thread) run()
HyDatadase o = Room,ootabasedulioen(
context,
MyCatabase.class
“ListitendE . g0

}.buital);

Listite
da0.dele
}.start{)

o @40 = b, gethas();

te(iten);

{
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Android -
app
manifests
d java
w corm_sme firstapg
il api
£ Api
I lApi
db
L ListitemDao
£) nyDatabase
¥ model
£ Listitern
£ SearchRes
£ Listactivity
£ Mainactivity
2 MyActivity
2 com.sme.firstapp (androidTest
¢ com :'J'T‘Eflrﬂapﬁ' Test
Java (generat
res
res |generated
< i Gradle Scripts
build.gradle (Froject FirstApg

I 1 Project
L4

¥ Resource Manager

build.gradle (Module: Firsta i
w11 gradie-wrapper. properties (Gradle Yersion
= proguard-rules.pro (FroGuard Rules for FirstApp.app
,|;fﬂ'.'=|E'|:II'COH'.'I‘.‘5- THECT Properies
settings.gradle (Project Setting
i1 local_properties (SDK Locatiorn

r 2 Favariies i T Structure

A I}

AL O

=2 A0l M (Android Studio)

OHS2AI0IA 2l ERer 2 &

vEl

public int getItemCount() {

return data.size();

class ViewHolder extends RecyclerView.ViewHolder {

TextView tvTitle;
TextView tvMallName;
TextView tvPrice;
ImageView ivThumb;
CheckBox checkBox;

public ViewHolder(View itemView) {

super(itemView);

tvTitle = itemView.findViewById(R.1d.tvTitle);
tvMallName = 1temView.findViewById(R.1d.tvMallName);
tvPrice = 1temView.findViewById(R.1d.tvPrice);
ivThumb = itemView.findViewById(R.1id.ivThumb);
checkBox = itemView.findViewById(R.1d.checkbox);

we Androidianifest xml € ListActivity java B Apijava I |Apijava 2 MainActivityjava
package com.smc.firstapp.api;

import ...
public class Api 1
private static final String BASE_URL = "https://openapi.naver,com";

public static IApi create() {
HttpLoggingInterceptor interceptor = new HttpLoggingInterceptor();
interceptor.setlLevel (HttpLoggingInterceptor.Level.B0DY);

OkHttpClient c¢lient = new OkHttpClient
.Builder()
.addInterceptor(interceptor)
Lowild(d;

return new Retrofit.Builder()
.baselrL(BASE_URL)
= .addConverterFactory(GsonConverterFactory.create()))
.client(client)

2 Lbuild()

7 .create(IApi.class);
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4& HZ213014(Android

Studio)

9:01 @ gos @@ [ & =5 | 65% BRI

FirstApp

FirstApp FirstApp

e 24 LESH| Z4

LISTACTIVITY

=T AHAIS 0]22 NT950X...

0]

LGHEA} 2314 1472 D90P-GX50K
1,218,300%
MY ACTIVITY 1011

Apple 2% 00§ 202048 M1 25...

1,186,350
0|

TN LES E2{A2 NT550X...

9:58 OX T 75%0

& msearch.shopping.naver.com

A4 | 31g=E

28X A5 22360 NT950QDB-K
T1A

ok hhk 9p3H R ST

£|x 2,299,000

HX{7HAR7P2| ¢

(
Ly

o327 1521%|(37~39¢cm)
1.39kg

TOfiT 11M|CH

HES10 8

TOiT-1165GT

2 (a =
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OHZ= 2] 0] 4 (Android Studio)

6:53 & N, 74% a0 &

FirstApp FirstApp

A | # a4

J2|K0|E|E PEBBLE V2
39,060+
i b ||

v
o Y SP400
8 Of 217002
.
.

32|HI0|E|E PEBBLE V3

59,900
T

v

Ha|= BA-K9 SoundBar Solo
— 20,0207

K=
v
32|0f|0|E]2 PEBBLE 2.0 AI|#
20 900%F
ge,
. .
00| FE A6DTV EEE AF2EH} .
H 68,0809
o)
v

B = BA-RQ SoundBar

LISTACTIVITY

MY ACTIVITY

9:53 @

FirstApp

H2|= BA-K9 SoundBar Solo

o 09207

L o] e

.: ' 2X|€G G304 LIGHTSPEED WIR...
! 37 960H

1) O &

« o) ®X SP400
@ OF 217008

00
EEE

& ‘E‘="I=' BEETLEH = F4 oA

~  EXHG G102 2Mt LIGHTSYNC
‘ EE

‘;‘ OlO|324A0DE SER2EA 50 0f2A
22.790%
] 0] 1

Apple 'JI‘JIEH = gAML WIFI 32G

‘wrom  APPle OIOITHE 0f|0f 4X|TH WIFI 6...
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jonhun.com AFS XS0 Al 192.168.1.
500X 192.168.1.100 AFOIC] IPE &

=0l &= DHCP MHIAE 1Sdol ZHE

c|=A DHCP, DNS ¢4

jonghun.com ;
19¢.1668.1.2:
10 default-lease-time 600;
11 max-lease-time 7200;
12
13 ddns-update-style lards;
14
15 subnet 192.168.1.0 netmask 255.255.255.0
16 ANEgE .168.1.50 192.168.1.100;
17 option routers 192.168.1.1;

| 1' 8 .}5




03z 2ISA DHCP,DNS 78

Ell_* } zone ifr'j;:"l AN, COMN
type mastel
file

— o O~ o AL 8 zone 'hajln.com
LHE ABXIEE et zone= BHE1], : i
2 file

N
O
=
@D
=
e
i
1>
0%
St
=
2
i
>_
=
m
=

SZ0h= A0[0tU2rdnsE OIS0l
MOIEN B == U dnsE Aol

M domain= & MH ip= 0H& AIZAL
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) Payjava 3

package pay;
import java.util.®;

3 import java.util.Scanner;

5

public class Pay {

public static wvoid main(String[] args) {
Scanner s5c = new Scanner(System.in);
System.out.print("YE=% TIH=H=2: ");
int a = sc.nextInt();
String[] arrl= new String[a]; 1i=g
System.out.print("0I8§& THHASMI: ");
for(int i=8;i<a;i++) {
arrl[i]w=sc.next();
¥

System.out.print("Sog 42 W=: ");
int b =sc.nextInt();
int [JarrZ=new int[b]; fg4le| Jlag Yo
Arrays.fill(arr2, @);
for(int i=@;i<b;i++) {
System.out.print(i+1+"72 7t5 &LF : “);
arr2[i]=sc.nextInt();

ui
7

int count=@;
int [][]arr3=new int[a][b]; /He 24
System.out.println("1. 27 2.37 3.0H0=
for(int i=8;i<a;iH) {
System.out.print(arrl[i]+"(0)7 TE S4(TYUCHH 1 Ol @)
for(int j=8;j<b;j+) {
arr3[i][j]=sc.nextInt()};

}

}

for(int i=8;i<a;i+) {
count=8;

for(int j=0;j<b;j+) {
if(arr3[§][i]==1) {
count++;
}

arr2[i]/=count;

i1}
1
||II
[TE]

|I|
[}

B H

int[] price =new int[a];
Arrays.fill(price, @);
for{int i=8;i<a;i++) {
for(int j=@;j<b;j++) {
if(arr3[i][§]==1) {
price[i]4+=arr2[j];
}

%

m
113
{1

}

System.out.println{arrl[i]+"(21)7t 8 =22 "4price[i]+" YU

2 Console 2 I*/ Problems [J] Debug Shell

<terminated> Pay [Java Application] C:¥#Program Files#)ava¥jdk-14.0.1#bin¥javaw.exe
Y=g TEHZMa: 4

olgg TEMEHa: © =2 ==
FojEt 240 FE=r 4

17e| 719 ¥ : 20008

27je| 71y U= 18088

3We 7 ¥ : 3eee

479 7t UH : 4080

1. 27 2.37 3.010|23F 4. 2B

Z(o)7t T2 24(THoE 1 odE eyl 111

E2(0)7t H2 S4(FFHH 1 oy @) 1 111
EZ2(0l)7t H2 24(ZEYOA 1 ofU @) | 1 1 e 1
AT(0)7 He S4(THA 1 oA @) 1 1 e e
#(0l)7F & =2 1283394ct.

E2(01)7F 2 =2 12833Z4c}.

Z2(0l)7t 2 =2 8833YuUct.

AT(0)7t 2 =2 7500LUCt.

RE

(2021.6. 4. £F
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; |=;"'. lude stalio.n 32
S——— - 33[H int main(void) {
=IIE°I 2% voic.i‘qt';fik'(.:nt a;;; ?nt start, int end) { 34 int number = 10;
: i ik 35 int arr[] = {19, 1@, 15, 38, 27, 6, 14, 23, 2, 59};
il & ) ; 36 quick(arr, @, number - 1);
. ' 37 int i;
8 int key = start; 38 & for(i = @; i < number; i++) {
Bl int i = start + 1, §j = end, temp; 39 printf("%d ", arr[i]);
I—{ 294 = En‘:ﬂl‘ = 1
javalil i S22 = AISH sortE At 10 o 40 )
11 = while(i <= j§) { 41
12 = while(i <~ end && arr[i] <» arr[key]) { /2 > )
2037 = A BHed=2 13 fee; a3
=0 |' I:J' |_0'|0'”|_-| H-IEC'JEE *l' 14 )
15 |- while(j > start 8& arr[j] >« arr[key]) { B CwUserswAdministrator#DocumentswUntitled 1 exe
=2 oH = N, = X 16 o
=M IR HIED HNR2IS A =]
18 [ if(i > §) {
A= HHS HEA il = ot s, Pl - | AP
ll'c::r |'|_ HHE c:ﬂolal' C)'I'UH%I-I:-I- 20 arr[j] = arr[key];
21 arr|key| temp;
22 } else |
23 temp = arr[i];
24 arr[i]) = arr[j];
25 arr(j) temp;
26 | }
27 - :
28
29 quick(arr, start, j 1);
30 quick(arr, j + 1, end);
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1| Arvjava I3
I import jawva.util.*;
2

Ll
oC

public class ﬂrr {

.

O D =] &

e ]
n

public static void main(String[] args) {

- Scanner sc = new Scanner(System.in};
= 31 _LI_EJ_ = O} J_” EI i ArrayList<String> name = new ArrayList<>();
Il-Hl-E o T 0 AITGYLlStE = ;'? String n = null;
g_l while(true) {
12 System.out.print{"0|E2 Hs|FHa( 'I0"'S AAHGIAIH ZSIELIC) : ");
—1524-'_—] 3 _” :l:l:OlE -I-H:” - o1 n= sc.next();
L — — ﬁ::"’l' 3
0-| OoOT = 0 J—; I_II E = 0 L L if(n.equals("12t")) break;
;“ g name,add(n);
— — " == o 16 } _ . . J B Console 2 §! Problems [i3] Debug Shell
I‘" = X1 H |-T'_| L‘l Olgqo} Ol e 7 Arraylist<String> firstname= new Arraylist<>(); <terminated> Arr [Java Application] C:WProgram Fileswlavawjdk-14.0. 1%binWjavaw.exe (2021.6.5. 2% 12:03:24 - .
= L T H— == -k System.out._print("#1 2 Hg UldiFde @ "); =o oo "o olad% —p——
19 String fn = sc.next(); OlES YSd=F 1&“ A2’ 8 YOS ﬁE%HEU S
. o O = %} = e for(int i=@;ic<name.size();i++) { OlE2g odgHslFMe("1"'s AHSAH FSSELOH b=
g 4 _ ] - . . .
ArrayLsit Bi OOl @10, 2042 A 88 YEATAR( 0 8 g FRE
B * EL2 OlsHBH==k D 'S Olads =2 =l '
23 firstname.add(name.get(i)}); Ol§2 dHFML( 1A' & YHSAE F2EUH) !
Ol§S AHsiFMa( o e YAstAH F=gUC) : 12
= 0Ol EEH r :t:f o — I __1 ELH g; } | = Al ( ’ A | }) L
= H =/ 0 = T — — (25 } 0 de 48 dEdFEde
26 System.out.println{firstname}; JNEE S 217
28 }
09 1
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NEWBWEWS 1 #include <stdio.h>
EwWBBBwEwW 2
gy 38 int main() {
—— B int n, m;
EWENDWEW 5 int nstart = 2, mstart = 0;
6 int count = @;
]II_: R AL i 7 int temp = 5000000;
8*89] I-”i L = BQ}le- J:”E jl’% 8 scanf("%d Xd", &n, &m);
12 9 char chessboard[50@][50@]
1e char copychess[10][18] = {};
JtZXIXIH B2 CIH B S HE . Gl
= LS e —/™ == T 128 for(int i = 8; 1 < n; i++) {
13 scanf("%s", chessboard[i]);
14 }
l__L'A“Iij'xI'D_LAEiE*H 15
[ % ) |-D 1 — % = E—:!U 166 for(nstart = @; nstart < n-7; nstartss) {
176 for(mstart = @; mstart < m-7; mstartes) fi
18 count = 9;
X I ek 19
T e_ — — 3 AT CEA] 3517| puE 20[15 for(int i = nstart; i < nstart+8; i++) {
! 218 for(int j = mstart; j < mstart+8; je+) {
i — - - — i g } copychess[i-nstart][j-mstart] = chessboard[i][]j];
24 }
278 25 if(copychess[@][@] != "W') countes;
: 26 copychess[@][@] = 'W’;
X0 ME S BEM 8° MANSE 0l Ba3 NS 2863 for(int 1 = ©; 1 < 8; i+¢) {
e i i R e B AR R R R R 296 1f(copychess[i][@] == copychess[i+1][@]) {
ioh DICE NN O S St AND GENEe Ml I HMOIE. S0k 4 Il 41 Slt B0 B0, S Fos BN 2E 30 copychess[i+1][0©] = copychess[i+1][@] == ?
31 count++;




| J— AL CA] &6

32: } ‘ ) ) 60(%“ for(int i = ©; i < 8; i++) {
336 for(int j = 5 j < 8; j++) { 616 if(copychess[i][@] == copychess[i+1][@]) {
340 if(copychess[i][j] == copychess[i][j+1]) { 62 copychess[i+1][@] = copychess[i+1][@] == 2 W'
=II:I 35 copychess[1][§+1] = copychess[i][j+1] == 'B" ? "W' : 'B'; 3 counte+
I c 36 count+s; 64 }
37 ¢ ) 656 for(int j = @; j < 8; j++) {
38 | ) 66 if(copychess[i][j] == copychess[i][j+1]) {
39 | } 67 copychess[i][j+1] = copychess[i][j+1] == 'B' ? 'W'
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